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5309-A 

M.Com. (FINAL) EXAMINATION, 2019 

BUSINESS ADMINISTRATION 

Paper –IV-A 

LABOUR LEGISLATION IN INDIA 

 

Time: Three Hours 

Maximum Marks: 100 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 50] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[k.M & l½¼[k.M & l½¼[k.M & l½¼[k.M & l½      [Marks: 30] 

Answer any two questions (300 words each). 

All questions carry equal marks. 

    dksbZ nks iz’unks iz’unks iz’unks iz’u dhft,A izR;sd iz’u dk mŸkj 300 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M[k.M[k.M[k.M    & v& v& v& v 

Q.1 Answer the following questions- 

 fuEufyf[kr ç'uksa ds mÙkj nks& 

 (a) State the scope of Workmen’s Compensation Act, 1923. 

  Jethoh {kfriwfrZ vf/kfu;e] 1923 dk {ks= crkb,A 

 (b) Write two difference between Works Committee and Conciliation Board.  

 dk;Zlfefr;k¡ ,oa le>kSrk cksMZ esa varj fyf[k,A 

 (c) Define the following regarding the Trade Union Act, 1926. 

  (i) Appropriate Government 

  (ii) Executive 

  Jela?k vf/kfu;e] 1926 ds lanHkZ esa fuEu dks ifjHkkf"kr dhft,& 

  (i) leqfpr ljdkj  

  (ii) dk;Zdkfj.kh 

 (d) Write the provision of Disqualification of Bonus. 

  Ckksul ds fy, v;ksX;rk ls lacaf/kr izko/kku fyf[k,A 

 (e) Write any two objectives of Advisory Board. 

  Lkkykgdkj eaMy ds dksbZ nks m)s’; crkb,A 

 (f) What do you mean by Employee’s Deposit-linked Insurance Scheme? 

  deZpkjh fu{ksi lgc) chek ;kstuk ls vki D;k le>rs gaS\ 

 (g) Define Standing Orders. 

  LFkk;h vkns’kksa dks ifjHkkf"kr dhft,A 

 (h) Write qualification of Apprentices.  

  izf'k{kq dh ;ksX;rk,¡ fyf[k,A 

 (i) Write any four objectives of Maternity Benefits Act, 1961. 

  izlwfr ykHk vf/kfu;e] 1961 ds pkj m)s’; crkb,A 

 (j) On which establishment the Employee’s Insurance Act, 1948 does not apply? 

  deZpkjh jkT; chek vf/kfu;e] 1948 fdu laLFkkuksa ij ykxw ugha gksrk gS\ 
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PART – B @ @ @ @ [k.M[k.M[k.M[k.M    & & & & cccc    

UNIT –I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.2 Describe the provision regarding Voluntary Arbitration of Disputes.  

 fooknksa ds ,fPNd iapfu.kZ; ls lacaf/kr izko/kkuksa dk o.kZu dhft,A 

OR@ @ @ @ vFkokvFkokvFkokvFkok 

Q.3 Discuss the provisions regarding Appointment of Commissioners and Powers under 

Workmen’s Compensation, Act 1923.  

 Jethoh {kfriwfrZ vf/kfu;e] 1923 ds varxZr {kfriwfrZ vk;qDr dh fu;qfDr ,oa mlds vf/kdkj ls 

lacaf/kr izko/kkuksa dk o.kZu dhft,A 

UNIT –II@ @ @ @ bdkbbdkbbdkbbdkbZ Z Z Z – II 

Q.4 Define Trade Union. Explain the main features of a registered Trade Union. 

 Jela?k dks ifjHkkf"kr dhft,A ,d iathÑr Jela?k dh eq[; fo’ks"krkvksa dk o.kZu dhft,A 

  OR@ @ @ @ vFkokvFkokvFkokvFkok 

Q.5 Write short note on the following – 

 (A) Eligibility of Bonus   (B) Rights of Trade Union 

 fuEu ij laf{kIr fVIi.kh dhft,& 

 (A) cksul dh ik=rk   (B) Jela?k ds vf/kdkj 

UNIT –III@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.6 What do you mean by Inspector? Explain its main functions under the payment of    

Wages Act. 

 fujh{kd ls vki D;k le>rs gSa\ etnwjh Hkqxrku vf/kfu;e ds varxZr fujh{kd ds eq[; dk;ksZa dk 

o.kZu dhft,A 

OR@ @ @ @ vFkokvFkokvFkokvFkok 

Q.7 Write an essay on Employee Pension Scheme. 

 deZpkjh isa’ku ;kstuk ij ys[k fyf[k,A 

UNIT –IV@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.8 Define Standing Orders. Describe the procedure for certification of standing orders. 

 LFkk;h vkns’kksa dks ifjHkkf"kr dhft,A LFkk;h vkns’kksa ds izek.ku laca/kh izfØ;k dk o.kZu dhft,A 
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OR@ @ @ @ vFkokvFkokvFkokvFkok 

Q.9 Explain the following – 

 (A) Apprenticeship Advisor  (B) Contract of Apprenticeship    

 fuEu dk o.kZu dhft,& 

 (A) izf’k{kqrk lykgdkj    (B) izf’k{kqrk vuqca/k 

UNIT –V@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.10 Explain the provisions regarding Notice of claim for Maternity Benefits and Payment. 

 izlwfr ykHk ds nkos dh lwpuk rFkk mlds Hkqxrku ls lacaf/kr izko/kkuksa dk o.kZu dhft,A 

OR@ @ @ @ vFkokvFkokvFkokvFkok 

Q.11 Write short note on the following- 

 (A)   Medical Benefit council  (B) Standing committee 

 fuEu ij laf{kIr fVIi.kh dhft,& 

 (A)   fpfdRlk ykHk ifj"kn   (B) LFkk;h lfefr 

PART – C @ @ @ @ [k.M[k.M[k.M[k.M    & & & & llll 

Q.12 Define Industrial Disputes. Explain any four methods for settlement of Industrial 

Disputes. 

 vkS|ksfxd fookn dks ifjHkkf"kr dhft,A vkS|ksfxd fooknksa ds fuiVkjs dh dksbZ pkj fof/k;ksa dk o.kZu 

dhft,A 

Q.13 What do you mean by Trade Union? Explain its main Duties.  

 Jela?k ls vki D;k le>rs gSa\ blds eq[; nkf;Roksa dk o.kZu dhft,A 

Q.14 What do you mean by deduction out of wages? Explain various Authorised Deductions.  

 etnwjh esa ls dVkSfr;ksa ls vki D;k le>rs gSa\ fofHkUu izdkj dh vf/kÑr dVkSfr;ksa dk o.kZu dhft,A 

Q.15 Write a detail note on The Industrial Employment (Standing Orders) Act, 1946. 

 vkS|ksfxd fu;kstu ¼LFkk;h vkns’k½ vf/kfu;e] 1946 ij ,d foLr`r ys[k fyf[k,A 

Q.16 What are the conditions for the payment of Maternity Benefits under Maternity Benefits 

Act? Explain.  

 izlwfr ykHk vf/kfu;e ds v/khu izlwfr ykHk Hkqxrku djus dh dkSulh 'krsZa gSa\ le>kb,A 

----------------------------------------- 


